Answer key for adjustments to the measurements of the $100,000 bill.
1.  The image of the $100,000 note on slide 9 measures 25 cm.  The required reserve ratio is 20%; 20% of 25 cm = 5 cm. (Subtract 5 cm from 25 cm, 20 cm of the image is left and represents the $80,000 that can be lent out by Bank A to Borrower 1.) 5 cm is the equivalent of $20,000. ($20,000 is 20% of 100,000.)

2.  Bank B will be required to hold 20% of that $80,000 deposit;20% of 20 cm = 4 cm. (Subtract 4 cm from 20 cm, 16 cm of the image is left and represents the $64,000 that can be lent out by Bank B to Borrower 2.)  4 cm is the equivalent of $16,000. ($16,000 is 20% of $80,000.)

3.  Bank C will be required to hold 20% of that $64,000 deposit; 20% of 16 cm = 3.2 cm.  (Subtract 3.2 cm from 16 cm, 12.8 cm of the image is left and represents the $51,200 that can be lent out by Bank C to Borrower 3.)  3.2 cm is the equivalent of $12,800. ($12,800 is 20% of $64,000.)

4.  Bank D will be required to hold 20% of that $51,200 deposit; 20% of 12.8 cm = 2.56 cm.  (Subtract 2.56 cm from 12.8 cm, 9.24 cm of the image is left and represents the $40,960 that can be lent out by Bank D to Borrower 4.)  2.56 cm is the equivalent of $10,240. ($10,240 is 20% of $51,200.)

5.  Bank E will be required to hold 20% of that $40,960 deposit; 20% of 9.24 cm = 1.84 cm.  (Subtract 1.84 cm from 9.24 cm, 7.40 cm of the image is left and represents the $32,768 that can be lent out by Bank E to Borrower 5.) 1.84 cm is the equivalent of $8,192.  ($8,192 is 20% of $40,960.)


